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- @entifying Graphg

Choose the correct graph that best describes the solution for each inequality.
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|x+6]|
1) |9%|+32<50 >2
7
a) a) =ttt
0-8 6 4 -2 0 2 4 6 8 1012 14 -32 -24 -16 8 0 8 16
by <t+t++++4++++++++> b) €++—-+—-oi U e e e e
-10 -8 6 4 -2 0 2 4 6 8 1012 14 -32 -24 -16 8 0 8 16
L
o o et
-10 -8 6 4 -2 0 2 4 6 8 10 12 14 -32 -24 -16 8 0 8 16
d) d) <+t 1>
-10 8 6 4 -2 0 2 4 6 8 1012 14 -32 -24 -16 8 0 8 16

-1.0 1 2 3 4 5

-1 0 1 2 3 4 5

-1 0 1 2 3 4 5
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7) | 7x-14]> 21 8 - +9<11
a) —+—+—o—+—+—+—++++t+1> a) “———t—+—o—4+—+—+—+—+—+1+1>
-3 0 3 6 9 -30 -25-20-15 -10 0 5 10 15 20 25 30
b) €<—+—+=+++++-o"4+—+—+—+> by <t+—+—+—+=+++o++-++>»
-3 0 3 6 9 -30 -25-20-15 -10 0 5 10 15 20 25 30
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3 0 3 6 9 -30-25-20-15-10 -5 0 5 10 15 20 25 30
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d) NOSO|ut|0n d) A N R B N 4 — 1 Y 1 1 1 1 /7
-30-25-20-15-10 -5 0 5 10 15 20 25 30
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